BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

10*

1000

100

rm655 2/(408805 —~5226)=0.958

F—+ T~ 1 '~ ~ - T T T T T " T T T T U

BIC 454309 44 ABIC 0. OOO AIogP 0.0000

i : x 386784.31 Ax 0.000 AlogP 0.0000 T
T — ]
L : ABIC —163704 i
i : N —163704 |

5226 : 5226
A ' ACq

L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |

10 20 30 40 50 60
60 iterations
rme655 2/(408805 5226) 0.958
E™ +~ ' +~ T - T T T T T T T T T T T T 13
F : BIC 454309 44 ABIC 0. OOO AIogP 0.0000 7
. A v % 386782.31 Ax 0.000 "AlogP "0.0000 3
Aol ACg - - - o emee e A
E_ . L L L | L L L L | L L L L | L L L L | L L L L | L L L L E
10 20 30 40 50 60
60 iterations

Fe2 0% 1004287 km/s
rme655 BLR 3220 NLR 900 km/s
— ‘* ‘I - - - - 1 r - T 1 T T T T T T T~ 1T T T T T K

fé

IIIIIII
&)
N
N
()]
w
N
N
0]

10 20 30 40 50 60

60 iterations

BIC

BLR

NLR

Fell

kdh1 12-0ct-2021 17:53



